Problem 1 {10 points) Give the mechanistic symbals (5,1, 8,2, E1E2) that are most consistent
with each of the following statements, Circle your answer,

A} In ethanol containing sodium ethoxide. rerr-butyl bromide reacts by these mechanisms,
5,1 B2 El @

B} What reaction mechanisms proceed through & concerted process?
5.l @ El E2

C) Reactions proceeding through these mechanisms are stercospecific.

5.1 @ El @

D1 Alkyl iodides react faster that alkyl bromides in reactions that proceed by these mechanisms.
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E) These reaction mechanisms are most likely 1o have been involved when the products are found
1o have a different carbon skelevon from the substrate.
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Problem 2. (5 points) When HBr is added to 1.3-butadiene in a polar solvent at low temperature,
what is the predominate product? Briefly explain why this product is formed.
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Problem 3. (5 paints) Give the mechanism, using curved arrows, for the conversion of an enol 1o
the corresponding ketone under acid conditions in water.
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Problem 4, (20 points) Starting with ethylene (which must be used in the synthesis) and any
other organic compounds. how would you synthesize the following compound?
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Problem 5. (40 points) Give the product or products for the following reactions, Circle vou
answer. Assume that all reagents are in excess. ’

,Lym_i_* Sﬂ |
i = Teo M
TsDCH: o WEEHORE )i & R + 1_:'9

1 -chy
" I i W -
CICH, — E— OCH, T pEe-cy- e octy 4 e b
Br |Br i
O Mo—pmg—n e oy ezetNet ¢ 2 WeBe B
H H o 3
L] O—EEEH 4 / o LHLG"H_}
|5 \-__;
y o o y
D HaO-O= 5 G -
Ee C-CH > Hy & e & He-c ::;H.‘,‘}
? D
F CH.Br HylD—C=O'Na* f 1 a.:-_:_c,H F ﬁj:._,_g.ﬁ
acetic acud H t":t--'ll, - Iill-m CJ‘J.I- J
i cH
CHy  CHy 0N _‘;
2 i &
Hy *:-Hj"

ﬁ CHACH
Fi - C—H ————




Problem 6. (5 points) Do 5, 2 reactions proceed faster in profic or aprotic solvents. Explam.
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Problem 7. (15 points) How would you carry out the following transformations? More than one
step may be required but no more than 3 staps.
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o (nt: do not use free radical chemistry)
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